[image: IMG_256]
[image: IMG_257]
[image: IMG_258]
[bookmark: _GoBack][image: IMG_259]
image1.jpeg
=iy

2019 FEHIT AW A A 2R (52 %)
BESEER
& | wEIS

IR (AEA 15, 8EE3 5y 3455, HEH— MR RERIERIED,
ik, Zik, $HikE, HTBED)

16.
17.
18.
19.
20.
21
22.
23.

25.

26.

AR (RRA 8 /N 16 =48, |25, #3245

(1) R AL HLE 2 ¥ GEAD

D (2) BEHESK

[€0XE) (2) Na;CO3+H,S04=Na;SO4+H,0+CO, 4 CHEHFH B4 /)
(1) AB (2) 2:1

3% S

(1) 2004 52006 (2) KUK, LERAEH 58 P HOME L2 e T KR

[OF A (2) AAXTIZFN 77 1]
) = (2),/ACD
SLIRTE (KA 4 3, 24, 5SWEEE3 7, 26, 27 AEEHE2 97, #3245

- (a5 ] R ReE, R BT SR S AR R b

(72 53k Osh
@K PIRAE A ] (19200 35 38 S 7 AR [ R 2 R o o A b e
5548 =2 CaCOsn, FesOs. Fe:

(s 5 KPP A BB

[V 58] fik, BAsRERSIEIE D Aty CuO HZ A ARl iy

(L) 3 F 00 DAY T P £ R DR 5 R v A4 224 i 1 270 LB 5 B 145 40)
(20 RAF ISP I HL BEL I /N A ()

(3) HUZKAT IR R AT L ALK IO AR 2 (L e A B Bgs /)

27.

7.

(1) BRSO AER KO B A R EH
(2) AZ AN/ R S5 XhR
(3) RERTES RIS MK R

ng > nins—mp B_(n;—ny) > (nj—ny) + (n3—ny)

TRBRR CAEAT 3/, ANE 7 45, JE 2140

1




image2.jpeg
28. (1) Fkiyy
(2) WARFER -
(3) G=m sg= (m +m ) g= (soooﬂ“?moooo 10 4/ F32=1.6 X 10°4

FoL6x107F
ST 0ake

A 4x10° m<6x’%

29.

30;

400%%

=2000 Z£5E=2 50 .

%

NaCI 58.5

27X -2ﬁx—~513i<6

Aﬁiiﬁ)\ﬁﬁﬁ'iﬁ%ﬁ“‘ﬂﬁé ?ﬁ
(3) ZFW T, (M

“‘Bﬁ
Al
31. (1)
@ ﬁ:w&&iaﬁﬂlm(ﬁ#%ﬁ) LA A LB A
AR 5 R 1 )
(&N

(4) Vit fhigts
32. (D 7, BOABER T 5 —DIER, T
(G075} JeAER

(3) REMSIZPIR T, AT Fr4E

33. (1) <
@ fi#: &im %S‘

0—80 x19.6%




image3.jpeg
V=8.7 JEK 3=8.7 =T}
B T 98%IIKTER 8.7 =Tt

(3) fit: KB #&m%%mzz.
B b AR =13, @
100% =59.7%

ST LARRE it 0 4 5

X

34.

2 : 25 30+100 FE+150 3L —268.4 57=6.6 7T
fift: it 1 CaCOs HTHEA x
CaCO5+2HCl= CaCly+ H,0+CO,

100 44 i~
X 6.6g
B8 i
44 6.6g
PESAt CaCOs 0B = 18 %=@

(3) fif: BERMGE
FE A (OH)

. 25g— 158 —4.2¢=5.8¢g

}’lgclz'l- 2H,0
95

—=— »=9.5¢
HGHWINRR: 25g—4.2g+150g—6.6g=164.2g
FE 5 MeCly E‘Jﬁiﬁ‘;&_ 2 5g

x100% =
% JRSAEHON VAT MeCl i v%%%
35. (1) @mm\)%n

) fi#

Fas meg=112X 100 T3 X 10 4 / TH=1.12X10°4:




image4.jpeg
Fy 1.12x10%4 i
= =1,12X 10"k
g LOX10T 58/ K x 104/ T3¢ =

Z: M S AR EDTE 1
(3) W=Pt=30000 L X 24 i}=7.2
o4$ﬁ/+liﬁ><72><1

s

36. (1D K5JE
(2) m=p

V=

B BRI T E AN 1 L.
(3) JFRMER, RE R T, MHRE

I_U_z (2000f _,,

110050

FEHUTFR, Riv R IR TAE, ﬁu&'@

R (200RF

Py SSK

%’%ﬁ : vy IFLAEA 836 KU





